Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register	73	Date - site bills Register			31/7/21 May flower phliques				
Company Name:	MPL		Site:		1	Yay flo	wer plaker	am	
Name of Contractor	Gnareshw	as cha	ш						
Nature of work	Carfentary From Date		J						
Work done	From Date	4	17/21		Date	2917	121	1	
Sl. Villa/Flat/block n	o. Qty.	Rat		Units	Amou	int	Contractors bill no		
No.	ock 20	2-	12	nos	1250	00 z 00	0711		
A GLOCK TOUTO			0	not		0 = 200			
2. BIND - Beeding 3. A GOCK 1006			75	nos	_	500=0	1		
4. 1008 4 81005			0	nos		0 200		_	
5.	1		1	,		•		_	
6.								\dashv	
7.								\dashv	
8.								\dashv	
9.				+ +				\dashv	
10.	T 1			\	0.	of Out	- Am	\dashv	
11.	Total:	NO	GS	T bill reg		7,840	3 □ NO.	\dashv	
Bill required	XYES 🗆			asureme		T Enc		_	
Measurement & estimate sheet:	Not req			imate she		1	enclosed		
PO/WO no.	Hotreq	unca	PC	/WO dat	æ:				
Remarks:									
								\longrightarrow	
Approved by Projec	t Manager	Approv	Approved by Design Team			Approved by M.D.			
Date: 31 2 2	021	Date:	Date:				Date:		
Sign:	1	Sign:	Sign:			Sign:			

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Contractor even n chary

				s only	Ticht Hundred and Fourty rupees only		
					Total		
27840							
		-					
3,045.00		00.00	nos	7.00	Other Door Beeding fixing	000	5
	420.00	000	nos	7.00	Door fixing for other door with cylindrical lock	Door Fixing - 8-1005	3
3,0	2 825 00	375 00					
3.045.00	420.00	60.00	nos	7.00	Other Door Beeding fixing	COOL LINING TO TOO	u
	2,625.00	375.00	nos	7.00	Door fixing for other door with cylindrical lock	000 Exist A-1008	
3,045.00					Offier poor peconig name		
	420.00	60.00	nos	7.00	Door lixing for ourse agor sy	Door Fixing - A-1007	œ
	2,625.00	375.00	nos	7.00	Door Gying for other door with cylindrical lock		
3,045.00					Other Door Beeding Tixing		
	420.00	60.00	nos	7 00	Door fixing for other door with cyminatical war.	Door Fixing - A-1006	7
	2,625.00	375.00	nos	7.00	Control door with ovlindrical lock		
2,610.00		0	100	0.00	Other Door Beeding fixing		
	360.00	60 00	000	600	Door fixing for other door with cylliferican fock	Door Fixing - B-1001	6
	2,250.00	375.00	nos	800	a control of the chindrical look		
2,610.00		00.00	IIOS	8.00	Other Door Beeding fixing		
	360.00	575.00	nos	6.00	Door fixing for other door with cylindrical lock	Door Fixing - A-1005	5
	2 250 00	275 00					
2.610.00	360.00	60.00	nos	6.00	Other Door Beeding fixing		
	2,250.00	375.00	nos	6.00	Door fixing for other door with cylindrical lock	Door Fixing - A-1004	4
2,610.00					c		
	360.00	60.00	nos	6.00	Other Door Beeding fixing	c	
	2,250.00	375.00	nos	6.00	Door fixing for other door with cylindrical lock	Door Fixing - A-1003	ω
2,610.00					G. C.		
	360.00	60.00	nos	6.00	Other Door Beeding fixing	0	,
	2,250.00	375.00	nos	6.00	Door fixing for other door with cylindrical lock	Door Fixing - A-1002	2
2,610.00					Court occupy towns		
	360.00	60.00	son	6.00	Other Door Reading fixing	200	-
	2,250.00	375.00	nos	6.00	Door fixing for other door with extindrical lock	Door Fiving - A-1001	۱.
					Door fixing with beeding for flats A-1001 to A-1008, B-1001, B-1005	Door fixing with beeding	
Item Head Total	Amount	Rate	Units	Quantity	Item Description	Item Head	S No.
1							
					31-07-2021		Date:
					K. Narender Reddy	Ву	Prepared By
					Gnaneshwar Chary	Name of the Contractor	Name of
			1005	, B-1001, B-	Door fixing with beeding for flats A-1001 to A-1008, B-1001, B-1005	Work Description:	Work Do
					May Flower Patinum		Project:
					MPPL	y Name:	Company Name:

١.

.

2 Door Beeding	1 Door Fixing with beeding to	S No. Item Head		actor	Work Description:		MEASUREMENT SHEET
Other Door Beeding fixing	Door Fixing	Item Description	K. Narender Reddy 31-07-2021	Gnaneshwar Chary	May Flower Patinum	MPPL	
1.00	1.00	A Length		B-1001, B-1			
1.00	1.00	B		1005			
1.00	1.00	C				Approved	
64.00	64.00	Nos.					
64.00	64.00	E=AxBxCxD Quantity					
nos	nos	F					
		G=Sum of E					

Bill for Consumables

Gnaneshwar Chary

Suchitra,

Kaveri Nagar ,Uppal

Hyderabad

Date:31-07-2021

In favor of:

MPL

Project / Site:

MFP

Location:

82/1. Mallapur

Type of Work:

Door fixing with beeding for flats A-1001 to A-1008, B-1001,

B-1005

Towards:

Allowance for Consumables

S No.	Description	mount
1.	Brief description of work done: Door fixing with beeding	
	for flats A-1001 to A-1008, B-1001, B-1005	Rs.5568=00
	Total amount =Rs 27,840=00	
	Work done from date: 04-07-2021 to 29-07-2021	

Amount in words: Five Thousand Five Hundred and Sixty Eight rupees only.

Sign:			
JISII.			

Bill for Equipment Allowance

Gnaneshwar Chary

Suchitra,

Kaveri Nagar ,Uppal

Hyderabad

Date:31-07-2021

In favor of:

MPL

Project / Site:

MFP

Location: Type of Work: 82/1. Mallapur Door fixing with beeding for flats A-1001 to A-1008, B-1001,

B-1005

Towards:

Allowance for Equipment

S No.	Description	mount
1.	Brief description of work done: Door fixing with beeding	
	for flats A-1001 to A-1008, B-1001, B-1005	Rs.11,136=00
	Total amount =Rs 27,840=00	
	Work done from date : 04-07-2021 to 29-07-2021	•

Amount in words: Eleven Thousand One Hundred and Thirty Six rupees only.

Bill for Labour charges

Gnaneshwar Chary Suchitra, Kaveri Nagar ,Uppal Hyderabad

Date:31-07-2021

In favor of:

 MPL

Project / Site:

MFP

Location:

82/1. Mallapur

Type of Work:

Door fixing with beeding for flats A-1001 to A-1008, B-1001,

B-1005

Towards:

Allowance for Labour charges

S No.	Description	mount
1.	Brief description of work done: Door fixing with beeding for flats A-1001 to A-1008, B-1001, B-1005 Total amount =Rs 27,840=00 Work done from date: 04-07-2021 to 29-07-2021	Rs.11,136=00

Amount in words: Eleven Thousand One Hundred and Thirty Six rupees only..